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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Acid and water are mixed in Vessel A in the ratio of 5:2 , and in vessel
B in the ratio 8:5. In what proportion should quantities be taken out
from the two vessels so as to form a new mixture in which the acid and
water will be in the ratio of 9:4?

o A T 3 3R Tt &1 3UTd 5:2 g a1 B H 3 3R UM BT Ul
8:5 51 &l ga-1 ¥ fhy 3fgurd | Heor # fsgur e Herar 9 arfe
T 0T H 3T 3fR dTfch U 801 H 3R 3iR Ut &bl 31UTd 9:4 8

(a) 7:2
(b) 2:7
(c) 1:4
(d) 2:3
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

A vessel is filled with liquid, 3 parts of which are water and 5
parts are syrup. How much of the mixture must be drawn off
and replaced with water so that the mixture may be half

water and half syrup?

U Sci %d | HR1 g3 © forH 3 4T T

a1 o 91eR RishTa ST 3R Id-TT &

foreror o 3y gt 3R 3T RRU B

g 3R 5 HFT RRU 5|
SIEIRE GRS IMGIEE

(a) 1/3
(b) 1/4
(c) 1/5
(d) 1/1




SSC CGL/CHSL TIER 2 (CRASH COURSE)

3. In what ratio must a grocer mix tea at Rs.60 per kg and Rs.65 per
kg,so that by selling the mixture at Rs. 68.20 per kg, he may gain
10%.

60 TUT/fHT, 3R 65 FUT/[HI. dTefl =1 ) F—H &a’qm o e o
o R80T 1 68.20 TUI/fHUT. I TR 10% © i gl

(a) 3:2
(b)3:4
(c) 3:5
(d)4:5




SSC CGL/CHSL TIER 2 (CRASH COURSE)

5. Two types of tea costing 180/kg and X 280/kg. In what ratio
should these be mixed so that obtained mixture sold at 320/ kg to
earn a profit of 20% is :-

2 180/fUT 3R 280/ foh T ATd dTelt &l foed I 914 fooy 3/aTd |
ﬁam“rglm fob TTet frsror 1 320/ fh Y BT G W &= WR 20% BT <A1
3fordg 817

(a) 3:1

(b)4:13
(c) 1:13
(d)2:13




SSC CGL/CHSL TIER 2 (CRASH COURSE)

6. In 2 kg mixture of copper and aluminium, 30% is copper. How
much aluminium powder should be added to the mixture so
that the quantity of copper becomes 20%"7

die 3R THHMTH & 2 oo 301, 801 7 30% dier & | 39 Hsmr |
fPaT  TgHMTH Tr¥ex 3R U ST =t foay did &
3T 20% B SITT?

(a) 900 gms
(b)800 gms
(c) 1000 gms
(d) 1200 gms




SSC CGL/CHSL TIER 2 (CRASH COURSE)

1. A trader had 9 quintals of wheat, He sold a part of it at 10%
profit and the rest at 20% profit, so that he made a total
profit of 14% How much wheat d1d he sell at 20% profit?

TR & I 9 fded g U1l I o o= 10% A1 3R

Udh
ST DT 8T 20% TTH TR o 3T, 37 UDHR I¥ $ 14% T
gl 3 20%  TH TR e g S

(a) 540 kg
(b)360 kg
(c) 180 kg
(d) 720 kg
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

8. A vessel contains 60 litre of milk. 12 litres of milk taken out
from it and replaced with water. Then again from mixture, 12
litres is taken out and replaced with water. The ratio of milk
and water in the resultant mixture is :-

U ddﬂerOFﬂET J | ITN W 12 e gy 7 FPTADR T R

3 THYU H T 12 dlex g8 MdhT1eidr grl 4R

%Wﬁrwﬁgﬂsﬁwﬁc

T 3UTd T §RTI?

(a) 16:9
(b)15:10
(c) 16:10
(d) 9:5




SSC CGL/CHSL TIER 2 (CRASH COURSE)

9. A beaker contains acid and water in the ratio 1 :x. when 300
ml of the mixture and 50 ml of water are mixed, the ratio of
acid and water becomes 2:5 What is the value of x?

50 ml U] &

U 2: 5 &l

ERIRIESIG]
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(a) 2
(b) 1
(c) 3
(d)4




SSC CGL/CHSL TIER 2 (CRASH COURSE)

10. A container contains 80 1 of milk. From this container 81 of
milk was taken out and replaced by water. This process was
further repeated two times. How much milk is now contained
in the container?

Ieh he-R T 80 Tl g &l GY & 39 e 8 Tl 18R Hdbrar T

3R Ut Bt THH HF STl T | 39 UfehaT B 3R SIgrT 17 &l
TR | Bk H 3T fhd-T1 g THIRd 87

(1) 54.23
(2) 54.26
(3) 56.32
(4) 58.32




SSC CGL/CHSL TIER 2 (CRASH COURSE)

11.A vessel contains some liter of pure milk 8 Lt. milk taken out
and replaced with 8 It water 1s water this process repeated
one time more Now ratio become milk and water is 225:64
find initial quantity of pure milk.

U Bk H UG g S dlie 6 8 Al g d1ex o Sl 9l g 3R 8 ot

At o T1Y Ui fodm T 9 Ulchal i Qg U aR 3R 37d

(&

)
%%%Hd U BT UMY 225:64 B SAT § , Y& &Y P! URIYS AT 1
?

(1) 68 1
(2) 701
(3) 751
(4) 801




SSC CGL/CHSL TIER 2 (CRASH COURSE)
12.Inside a container 1000 Lt. of milk now it is replaced by 100 Lt

of

water then replaced by 250Lt of water then 400 Lt of water then

fmd the final quantity of water in the mixture.

Gr?n%ﬁo—{%oeﬁ gt 8, fh 400 efiex Ui O, foh fRyor & gl

U e o 3G 1000 Aiex g¥ 8 3F 100 off Tt gRT Uicrdtiug foar

_(1.

121 3la P ?

(1) 585 1t
(2) 685 1t
(3) 790 1t
(4) 810 1t




SSC CGL/CHSL TIER 2 (CRASH COURSE)

13. A barrel contains a mixture of wine and water in the ratio
3:1.How much fraction of the. mixture must be drawn off and
substituted by water so that the ratio of wine and water in the
resultant mixture in the barrel becomes 1:1 ?

fAHTAT ST 3R 3d
3{-UTd 1: 1 Bl ST

U gor § AfaxT iR gl &1 3Urd 3:1 &1 Bgor 4 9 fobaHr |r

g1 Ol

WWﬁﬁWﬁﬂﬁﬂGﬁTqﬁco

1.1/4
2.2/3
3.3/4
4 . not




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A mixture contains wine and water in the ratio 3:2 and another mixture
contains them in the ratio 4:5.How many litres many litres of the latter
mixture must be mixed with 3 litres of the former mixture so that the
resultant mixture may contain equal quantities of wine and water?

TS 01 § AT 3R gt T SIUTd 32 g1 g8 [Heor § AfdRT 3R Uil &1
3(UTT 4:5 81 fobd diex S0 Ggdl dTal 3 Tiex W8 # fHamdm Sy
citex fHreror 7 fiamn SiTe difd Je fH9or & AfeRT 3R Ut & /61 994 8

(a) none

(b) 5 litres
(c) 4 litres
(d) 3 litres




